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QUESTION 1

The maximum output optical power of an OBU board is 20 dBm, when it is used in a C-band 80-channel system, what is
the standard per-channel output optical power? 

A. +1dBm 

B. -2dBm 

C. +7dbm 

D. +4dBm 

Correct Answer: A 

 

QUESTION 2

Which of the following alarms trigger optical line protection switching? 

A. POWER_DIFF_OVER 

B. R_LOF 

C. MUT_LOS 

D. R_LOS 

Correct Answer: A 

 

QUESTION 3

Which of the following functions is added to EX40 compared with X40? 

A. Monitors the optical power of a single channel. 

B. Supports optical-layer cross-connections. 

C. Fewer slots are occupied. 

D. More multiplexed and demultiplexed wavelengths 

Correct Answer: A 

 

QUESTION 4

Which of the following is not included in an ASON network? 

A. ASON Domain 
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B. ASON NE 

C. SC 

D. TE Link 

Correct Answer: C 

 

QUESTION 5

The overhead ratio is a factor that affects the error correction capability of the FEC technology. Generally, when the
same FEC encoding/decoding is used, the higher the overhead ratio is, the larger the net coding gain is. 

A. True 

B. False 

Correct Answer: B 
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